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C f(X) 2.0*x**3.0+9.0*x**2.0
C +40.0*x-80.0
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REAL
1,J,K,L,M,N

REAL X, NEWX, F, DF

WRITE(*,*) "Input Initial Value x0 = *
READ(C,%) X Q

10 CONTINUE "o
quotation mark

F 2_.0*X**3.0+9.0*X**2.0
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DF=6.0*X**2_0+18.0*X+40.0 D (%)

NEWX=X- (F/DF) <\\\\\\\\\\\\\\\\
IF (F**2.0 .GT. 0.0001) THEN —— | new x
WRITEC*,*) "x=",X, " ", "F(x)=",F
X=NEWX

GOTO 10 ™
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STOP

ELSE
WRITE (*,*) "F(x)=0"
WRITE (*,*) X
WRITE (*,*) F

END IF
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REAL T, NEWT, F, DF, YA

WRITE(*,*) T“Input Initial VaI;;_;;_:—t_—_———_——__L\~

REAL
READ(*,*) T
CONTINUE
F=C )-(A )-(B )
F O T -> Newton
F=101.3-exp(15.33-3785.0/T)*0.4-exp(15.68-4247.0/T)*0.6
&
DF=-0.4*exp(15.33-3785.0/T)*(3758.0/T**2.0)
& -0.6*exp(15.68-4247.0/T)*(4247.0/T**2.0)
NEWT=T-(F/DF)
IF (F**2.0 .GT. 0.0001) then
WRITEC*,*) "t=",T, * "L F(D)=",F FORTRAN
T=NEWT -EQ.
GOTO 10 £ -NE.
ELSE _GT.
YA=(exp(15.33-3785.0/T7)*0.4)/101.3 1T,
WRITE (*,*) "f(t)=0" .GE.
WRITE (*,*) T 1E.

WRITE (*,*) "yA= ",YA
END IF

STOP
END

Newton

exp(x)+x—2=0




